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1.Name the organelle that performs each of the following functions in a cell

(1mark)

(i)Protein synthesis.

a) Name the parts labelled F and G. (2marks)
...... O
G.. M“f\ ..... N U 73 2 —
abelled H and J (2marks)

b) State one function of cach of the parts |

Cofacte B welax S i owd \w,..m;h@s\\;&m
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4. (a) State two characteristics that are used to divide the phylum Arthropoda into classes.

. (2marks)
(Q\"“‘ ........................ SRR RN e Lt
(Y LS. ......................................
Y. XY 5, e e T
V .
(b)Name the clgss with the largest number of individuals in the phylum Arthropoda. (1mark)
..... B L RS
5. The diagram below represents a longitudinal section of a fruit
(1mark)

.). .......................................................................................

(11) gescribe two adaptations of the fruit to its mode of dispersal (2marks)

6.(a)What causes the following diseases?

(i)Diabetes mellitus.

(Imark)
reugreent/busc el oeefe secrefiin;
(ii)Diabetes insipidus. I mark)
I‘:S 3331(2})2:;«?/4 mﬁ‘;‘“‘ Pt mrele \\xmnm '

.............................................

b) An individual shows the symptoms for diabetes mellitus, how would you determine in the

school laboratory whether they are positive for the condition? (2marks)
e it somol fo 2 oalet ook Q T dable
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T.(a)Give two examples of‘natural selection in action., (2marks)
S;z,.q, dec 9 Ovithiwty
v shis

Cell body

Nucleus

(a)ldentify the neurone.

(Imark)

(Tmark)
..... AT
(b)Give a reason for your answer in (a) above (Imark)

..........................................................................................................
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(c)State one adaptation of the tooth to its function. (1mark)

10. It was found that during germination of pea seeds 9.3cm? of carbon (iv) oxide was
produced while 9.1cm? of oxygen was used up.

a)Calculate the respiratory quotient (RQ) of the reaction taking place. (2marks)

3
Q = '{‘Se Ce = Q'-’: C {.02)92:
NSl ¢

Gr 1om3 /

11.The diagrams below repres)ent two types of bacteria species that causes some human
diseases.

A B
[dentify each bacterium and state the disease it causes. (4 marks)
A: ....SA\MQ\Q\ oo AR fLe {.') ...........................................................................................
Disea:ie it ca‘l_lses:..(s.. f A .0&:) ........................................................................................
B0 KRE: . et A RSN

Disease it causes: C"‘o’kﬁ .)

(1mark)

qv“ﬁ’s‘\)\t/
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b) What is the biological significance of metamorphosis to an insect? (2marks)
v Em
\ {

13. Study and complete the table below. (3mks)

Feature Monocot Dicot

a) Number of stamens ‘“ \(\\\\'\‘L‘?\'O\‘S Teee | W\\"-"\Uﬂ-‘\-‘ o

b) Arrangement of vascular

S -
bundle in stem S C"J«%EQ %g&&, w Q
¢) Type of root
L k&'\" i< 'B&"- N .xm
ko S e Bl

14. The diagrams below show embryos of certain vertebrates animals. Study them and
answer the question that follows.

fish tortoise chick human
N\

a) Mention two observable structural features in these embryos that suggest that they have a

common ancestral origin. (2marks)

(b)What phenomenon in organic evolution is exhibited by these diagrams of embryos?
(1marks)

............................................

)




15. What is meant by the terms? 2marks)
i

a) Hypogenous flower

A Flwe wik Ouporier oty aeth O Sloaall el

............ h'&@'{)

b)Dichogamy,

B cndit

................

16. What is the main difference between the phloem tissues of sub divisions

Gymnospermaphyta and ngiospermaphyta. (Imark)
\-\3 - Lq&/.) S QA\Q,}

I8. What would be the effect of the following treatments on the nerve transmission?

(1) Inducing the axon with \mtabolic inhibitors. (1mark)

B S

...............................................................................................................

................................................................................................................

19. Givwne reason why btod Iea\(ing the lungs may not be fully oxygenated (1mark)

VBlockug sf ahvesly @\*S R
VZ(\)“ at isthmlguﬁanygﬂle‘ti‘iua in“vi‘io ) -C’Z.C%T% V'\‘ AD\ W 1:?@ QM
\
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21.The diagram below represents a simple endocrine feedback mechanism in human male.

/ PITUITARY GLAND

TN

HORMONE X HORMONE Y

TESTES

(a)Name the hormone labelled X (1marks)

Iesiel, ol Kool Braname, : R A

(b)State two differences that may be observed between a normal male and one who is incapa-
ble of producing hormone labelled Y. (2marks)

............................................................

4 e
22. a)Name the cartilage found between the bones of the vertebral column.

\h‘\'emer‘l*\omQ o\uc :

mmersed in2% and 25% salt solutions

A B
(a)Which of the two cells A and B was immersed in 2% salt solution? (1mark)
A
.............. ).
(b)Comment on the nature of 25% salt solution in relation to the cell sap. (1mark)
.............. ?\;“‘Q—'
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Tl ;Méw ......... (L Qafgulb

24. Name one structures found in the cortex of\hec

(1marks)

| marks)

\‘Kzl/"b .

(2marks)

[ ?ro'phytes I Hydrophytic EW 1
e e T W el
e nker, GFrda Kewy eocpesed_dvvpal®,
Laswds 1uad W Sie ary breoay |

26. \) Distinguish between gaseous exchange and respiration. (1 mdrk)
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b) Explain the disadvantages of anaerobic respiration in plant riots. (2marks)

e &% .\\(g(o Q ol due & oW

(1) Flexible vertebral column o . (
v Aol Sy e v, o Sl 5Glp / endwisd
v

...................................................................................................................................................

I mark)

i;) St'.lt.e.:fwo featyres which reduce P ming. (2marks)
veystmbnel oy, nclopble feed;,

Va2 aveclapy) ,.g?.:. B \,ogch ................ e

"_8. Stafe tw

................................................................

)
ynthesis andespttation

Photosynthesis Respiration
A N " o N o L

"oy, W e chunplagh ey \bTmMDJ{m‘x/ ktf'm)

' Co2, & Msd e CO, & gren W

~On i relogtel] O, e rted p

r e i ¢

ﬁwﬁb‘m&‘ﬁu@w&ﬁ —_—

(2Zmarks)

ales ae. [racrifed
........ e Wwez : e
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